ZL:=j-20-Q ZR := 30-Q ZC = —j-20-Q U:= 10V

ZR-ZC
ZE:= ————  ZE=(9231-13.846) Q |ZE| = 16.641Q ¢:=arg(ZE) ¢ =-56.31Grad
ZR + ZC
Z:=7L+ ZE Z=(9.231+ 6.154) |Z| = 11.0940 ©,= arg(Z) ¢ = 33.69Grad
U
I:= ~ I=(0.75- 05) A [1] = 0.901A @,= arg(l) ¢ = —33.69Grad
UL:=IZL UL=(10+ 15)V |UL| = 18.028V @ =arg(UL) ¢ = 56.31Grad
UR:=LZE UR=-15jV |UR| = 15V @,=arg(UR) ¢ =-90Grad
UC:= UR
UR .
IR := Py IR = —0.5jA [IR| = 0.5A @,= arg(IR) ¢ = —90Grad
ucC — 15
IC:= P IC = 0.75A |1C| = 0.75A @= arg(I0) @ =-3393x 10~ Grad

f := 1-kHz XL:= 20-Q2 XC:= 20-Q2

L:=—— L=3.183mH Ci=—— C=7958pF
MW o £.XC
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